GEOMETRY EXAM 3.2 Part I
1. The circle shown has its center located at the point (5, 4).
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The circle is reflected over the line y = –x. What are the coordinates of the center of the image? 

A. (-5, 4)

B. (-4, -5)

C.  (4, 5)

D.  (5, – 4)
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What is the measure of LMPN?
M. 70°
P. 75°
R. 115°

8. 150°




3. Quadrilateral MNOP and circle O are shown.

[image: image3.jpg]



Segments MN and MP are tangent to circle O. What is the degree measure of ∠PMN? 

A. 57°

B. 66°

C. 82°

D. 114°

4. Circle O is shown, with points X, Y, and Z on the circle.
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What is the measure of ∠XYZ?

A. 40°

B. 60°

C. 80°

D. 160°

(Multiple choice questions are 1 point each)

5. Circle O is inscribed in quadrilateral KLMN.
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What is the length of segment MN?

A. 55 cm

B. 70 cm

C. 75 cm

D. 90 cm

6. A circle and an inscribed triangle are shown. The triangle has the diameter of the circle as one of its sides. The area of the circle shown is 36π square millimeters. 
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Select the statements that are true. 

A. The triangle shown is a right triangle. 

B. The triangle shown is a scalene triangle. 

C. The triangle shown has one side length of 3 mm. 

D. The triangle shown has one side length of 18 mm. 

E. The area of the triangle is 18√3mm2. 

F. The area of the triangle cannot be determined from the information given. 
7. What is the equation of the circle whose diameter has endpoints (8, –2) and (–2, 6)?

A.  (x – 3)2 + (y – 2)2 = 9

B.  (x – 5)2 + (y – 4)2 = 9

C.  (x – 3)2 + (y – 2)2 = 41

D.  (x – 5)2 + (y – 4)2 = 41
[image: image7.png]8. A circle is represented by the equation shown.
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Write an expression in terms of m and p that represents tan(R). (2 points)




[image: image9.png]10. Mr. Miller is trying to determine the width of his pond. He makes the
measurements shown.
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What is the exact width of the pond? (2 points)





[image: image10.png]11.1n the figure, PS"is tangent to circle O at point S. Arc QR measures 110° and
arc RS measures 150°.
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What is the measure, in degrees, of QPS? (2 points)




[image: image11.png]12 the side lengths of the following right triangle are 16, 30, and 34. An altitude of a right triangle from the
right angle spits the hypotenuse into line segments of length x and .

. Whatis the relationship between the large triangle and the twio sub-trangles? Why? (2 poiats)
b Solve forh, x,and y. (3 points)
. Find an expression that gives b in terms of x and . (1 point)

13. points 4, B, and C are not collinear, forming ZBAC. Extend 4B to point P. Line £ passes through P and
is parallel to segment BC. It meets AC at point Q.

3. Drawa diagram to represent the situation described. (1 point)
b. 15 PQ longer or shorterthan BC? (1 point)
C. Prove that & ABC ~ 5 APQ (2 points)

4. What other pairs of segmentsinthis figure have the same ratio oflengths that PQ has to BC? (2 points)

14. The coordinates of a ABC are shown on the coordinate plane below. & ABC is dilated from the origin by
scale factor 7

. Identify the coordinates of the dilated & 4'B'C". (3 poiats)
b. IsAA'B'C'~ A ABC? Explain. (2 points)




[image: image12.png]15. Aradio tower is anchored by long cables called guy wires, such as 4B in the figure below. Point 4 is
250 m from the base of the tower, and m£BAC =45°.

()

a. How long is the guy wire? (2 points)
b, How far above the ground is it fastened to the tower? (2 Points)

c. How tall is the tower, DC, if m£DAC = 6072 (2 points)

16. Answer the following questions based on the diagram below.

a. Find the sine and cosine values of angles 7 and . Leave the answers as fractions.

sinr® = sins® =
cosTe = coss° = ©p )
tanr® = tans® =

Why is the sine of an acute angle the same value as the cosine of its complement? (2 points)




